EARAZROREIERT — 2 N—XBISY —F 201659818 (K) 9mEIAFH3H

mﬂﬁ%—ﬂﬁ C1mE EEE R
[A&4£] 1 7% :1,500,000 @ ~ 23 :600,000 33%&:375,000  ~ 43#&:225,000 . 5 3% :150,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o . bk ] 142, —-0-1- . — FRAN—5 (KF)
118l HA4FTHA R 4 5 o= 1(4_2)5 2-2-1-1 | 40.7 1 (4_952) hn
R:T7THEE BIUFIANL HFASZREy K
— o 4 3 | EEREA 1:44.1 7-7-7-6 | 41.2| — 8 500 | MEFIIR (KFH)
2(1]1|717E=ZR 55.0 @ w5 | (B FYRER
R:F4>N—h>h)— B:YvFAT =l =
o4 | mEG 1:44.2 4-3-3-4 |42.2| — 2 440 | WEARFIE (HA)
3KY 3 axX/ke b gTIO (7E) 1) FEEE
RHYIRGT4 TR BNVFTFy R HEAHZAT—T I
: 4 3 | HEARER 1:44.7 8-9-8-6 |41.8| — 3 470 | BEEH (KFH)
4/8/8(NTR—F 5.0 (2 1/2) 47) | AEE—
R:¥xrind4n— B:IYErYTLT 1 L ERBERS
N : o3 | WKR 1:44.8 6-6-6-6 |42.2| — 6 471 | BREEBA (KFH)
sl | NTTAR—A 5.0 (172) Cr) | bt ()
LY LIAN—b BihxiayntF EE &
= 2 # o5 | WIHRK 1:45.5 4-3-4-5 | 43.5| — 4 520 |HUSBEL (KH)
el 4| *7T1ITE—-IL 56.0 (3 1/2) (1g) | ERER
RTANKTy Y2 BTNLFE4T H2 0 LS
NS > g | BEAFA 1:45.8 9-8-8-9 |43.1| — 9 514 | =iEEE (KFH)
4 ¢ Kl 56.0 (1 3/4) gy | (B) h=—pE
AT RN BHALLRTILNR BMEX &Y K
L > 4 3 | I3 1:46.0 3-5-5-3 |43.7| — 7 462 | SEILBSEE (K)
8/5|5 NIV —Ta 53.0 (3/4) © () ALY —ry K
R:oA7% B:NE/N—tILT T EAtE
o FHEFEA 146. -1-2- . — BEfE= (KH#)
9l7!|7 <zEF I 4 6 e 1 (416)2 1-1-2-2 | 44.3 5 (i::)) it
R:xA1=Zd7— BETL—->F1b J—HrTy—LA
® I—F—@EBIERL
15l=2F= 7,9,5,(3,4),2,1,8,6
Ao=5"= 7,9,(3,4),5,2,1,6,8
33—7— |9,7,3,4,5,2,1,(6,8)
41—F— 9,7,5,3,4,(1,2,8) ,6
[ N5
B R 9 130 | [ 71 K 1-9 1,370M | | # = 1-8 4,320M | | 3:EE& 1-3-9 4,150M
# B 9 1004 3-9 160M B 8-1 6,210/ EE 9-1-3 21,440
1 1,140 1-3 2,470/ B = 1-9 5,690M
3 130M B H 9-1 8,270M

ABICOVWTRDTEEERROODE. TR LIV,



